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First Year, Examination, 2018 

Time : 3 Hours   Max. Marks : 80 

Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Compute the standard deviation from the given table : 

Class Interval Frequency 

0—4 7 

4—8 8 

8—12 9 

12—16 10 

16—20 11 

20—24 12 

24—28 15 

28—32 10 

32—36 10 

36—40 8 

nh x;h rkfydk ls ekud fopyu dh x.kuk dhft, % 

oxZ vUrjky vko`fŸk 

0—4 7 

4—8 8 

8—12 9 

12—16 10 

16—20 11 

20—24 12 

24—28 15 

28—32 10 

32—36 10 

36—40 8 
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2. Give a detailed description of applications of 

derivation in economics. 

vodyu ds vkfFkZd vuqiz;ksxksa dk foLr`r fooj.k nhft,A 

3. Elaborate the use of ‘Index Number’ in Economics. 

vFkZ’kkL= esa lwpdkad dh mi;ksfxrk dks foLrkj ls 

le>kb;sA 

4. Show that average cost is equal to the marginal cost at 

the lowest level of average cost using the given cost 

function : 

C = Q
3
 – 5 Q

2
 + 31 Q 

fn;s x;s ykxr Qyu C = Q
3
 – 5 Q

2
 + 31 Q esa n’kkZb;s 

fd vkSlr ykxr ds U;wure Lrj ij lhekUr ykxr vkSlr 

ykxr ds cjkcj gksrh gSA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by ‘Regression’ ? Describe the 

different types of regression. 

^izrhixeu* ls vki D;k le>rs gSa \ izrhixeu ds fofHkUu 

izdkjksa dk o.kZu dhft,A 
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2. Mention the importance of ‘Time Series’.  

^dky Js.kh* ds egRo dks crkb;sA 

3. A production function is ( , )z f x y : 

2 2
z a x b xy cy   . Prove that this is a 

homogeneous production function. Also find out its 

degree of homogeneity. 

mRiknu Qyu ( , )z f x y % 2 2
z a x b xy cy    gSA 

fl) dhft;s fd ;g ,d lekaxh mRiknu Qyu gSA bldh 

lekaxrk dh dksfV Hkh Kkr dhft;sA 

4. The Marginal Cost (MC) function of a firm is given by 

MC = Q
2
 – 4 Q + 10. If the fixed cost of the firm is 10, 

compute the total cost for the production of 6 units. 

,d QeZ dh lhekUr ykxr MC = Q
2
 – 4 Q + 10 nh xbZ 

gSA ;fn QeZ dh fLFkj ykxr 10 gks] rks 6 bdkbZ ds mRiknu 

ij QeZ dh dqy ykxr fudkfy;sA 

5. Find out ‘Marginal Product Functions’ of labour and 

capital from the production function : 

Q = L
3
 + 5 L

2
K + 4 K

2
 

mRiknu Qyu Q = L
3
 + 5 L

2
K + 4 K

2
 ls Je o iw¡th ds 

^lhekUr mRiknu Qyu* izkIr dhft,A 

6. Compute the Arithmetic Mean from the given table : 

Wage Number of Labourers 

10—20 6 

20—30 35 

30—40 60 

40—50 74 

50—60 25 
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nh x;h rkfydk ls lekUrj ek/; dh x.kuk dhft, % 

etnwjh etnwjksa dh la[;k 

10—20 6 

20—30 35 

30—40 60 

40—50 74 

50—60 25 

7. What is ‘Pie Chart’ ? Explain the usefulness of ‘Pie 

Chart’ in Economics. 

^ikbZ vkjs[k* D;k gksrk gS \ vFkZ’kkL= esa ikbZ vkjs[k dh 

mi;ksfxrk dks le>kb;sA 

8. Write a short note on ‘Input-Output’ analysis. 

^vkxr&fuxZr* fo’ys‛k.k ij ,d laf{kIr fVIi.kh fyf[k;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. 2  is : 

(a) Real number 
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(b) Irrational number 

(c) Both of the above 

(d) None of the above 

2  gS % 

¼v½ okLrfod la[;k 

¼c½ vifjes; la[;k 

¼l½ mi;qZDr nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

2. If  A , ,a b c  and  B , ,a d f , then A B  is : 

(a)  a   

(b)  , , , ,a b c d f   

(c)  , ,b c f   

(d)  ,b c   

;fn  A , ,a b c  vkSj  B , ,a d f ] rks A B  gS % 

¼v½  a  

¼c½  , , , ,a b c d f  

¼l½  , ,b c f  

¼n½  ,b c  

3. Cobb-Douglas production function follows Euler 

theorem, if : 

(a) 1      
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(b) 1      

(c) 1      

(d)      

dkWc&MXkyl mRiknu Qyu vk;yj izes; dk ikyu djsxk] 

;fn % 

¼v½ 1     

¼c½ 1     

¼l½ 1     

¼n½     

4. If C 7 Q 1 0  , then MC would be : 

(a) 10   

(b) 7 Q   

(c) 2
7 Q 1 0 Q   

(d) 7 

;fn C 7 Q 1 0  ] rks MC gksxh % 

¼v½ 10 

¼c½ 7 Q  

¼l½ 2
7 Q 1 0 Q  

¼n½ 7 

5. If 
3 0

6
5 x

 , then the value of x is : 

(a) 5 
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(b) 3 

(c) 2 

(d) 1 

;fn 
3 0

6
5 x

 ] rks x dk eku gksxk % 

¼v½ 5 

¼c½ 3 

¼l½ 2 

¼n½ 1 

6. Mode and Median are which type of statistical mean ? 

(a) Positional mean 

(b) Mathematical mean 

(c) Commercial mean 

(d) None of the above 

cgqyd rFkk ekf/;dk fdl izdkj ds lkaf[;dh; ek/; gaS \ 

¼v½ fLFkfr lEcU/kh ek/; 

¼c½ xf.krh; ek/; 

¼l½ O;kikfjd ek/; 

¼n½ mi;qZDr esa ls dksbZ ugha 

7. The correlation coefficient between two series is the 

two simple regression coefficient’s : 

(a) Arithmetic mean 

(b) Geometric mean 

(c) Product 

(d) Harmonic mean 
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nks Jsf.k;ksa ds e/; lglEcU/k xq.kkad muds nksuksa ljy 

izrhixeu xq.kkadksa dk gksrk gS % 

¼v½ lekUrj ek/; 

¼c½ xq.kksŸkj ek/; 

¼l½ xq.ku 

¼n½ gjkRed ek/; 

8. Which of the following does not carry the unit ? 

(a) Arithmetic mean 

(b) Mean deviation 

(c) Standard deviation 

(d) Correlation coefficient 

fuEufyf[kr esa ls fdlesa bdkbZ ugha gksrh gS \ 

¼v½ lekUrj ek/; 

¼c½ ek/; fopyu 

¼l½ ekud fopyu 

¼n½ lglEcU/k xq.kkad 

9. Price index is called as economy’s : 

(a) Thermometer 

(b) Barometer 

(c) Voltmeter 

(d) Speedometer 

ewY; lwpdkad dks dgk tkrk gS] vFkZO;oLFkk dk % 

¼v½ FkekZehVj 

¼c½ cSjksehVj 

¼l½ oksYV ehVj 

¼n½ LihMksehVj 
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10. There are 9 routes for going Delhi from Dehradun. In 

how many ways a person can go to Delhi by one rute 

and return by another ? 

(a) 72 

(b) 81 

(c) 18 

(d) 17 

nsgjknwu ls fnYyh tkus ds 9 jkLrs gSaA ,d vkneh fdrus 

rjhdksa ls nsgjknwu ls fnYyh tk ldrk gS vkSj fdlh vU; 

jkLrs ls ykSV ldrk gS \ 

¼v½ 72 

¼c½ 81 

¼l½ 18 

¼n½ 17 
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